CWV Anomaly (mm)

SST Anomaly (K)

1 (a) Global ocean

—— RTV, Trend = 0.390 = 0.218 mm Dec '
| —— ERAS5, Anomaly difference (RTV-ERAS): Trend = -0.024 + 0.045 mm Dec~', RMSE = 0.131 mm
{1 —— RSS, Anomaly difference (RTV-RSS): Trend = -0.011 + 0.043 mm Dec~', RMSE = 0.122 mm
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1 (b) Global ocean

| —— RTV, Trend = 0.165 + 0.108 K Dec~ !
| —— ERAS5, Anomaly difference (RTV-ERAS): Trend = 0.019 = 0.029 K Dec~ ', RMSE = 0.055 K
| —— OISST, Anomaly difference (RTV-OISST): Trend = -0.033 + 0.029 K Dec~ ', RMSE = 0.062 K
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